see of it. What is it?

YThe greater it is, the lessyou |

2 To solve the riddle, complete the tables Triangular numbers

then write the letter that matches the 1 . i
answer in the correct box below. - S
1+2 13
- Square numbers : I i
1+2+3 = 6
12 : ixl 1 . \ . '
: 1+2+3+4 10
22 2x2 4
: 1+2+34+4+5 15
32 3Ix3 9
22X 14243444546 21
42 4x4
. X 16 14+2+34445+64+7 ®
52 Sx5 25 .
x‘ 1+2+3+4+45+6+7+8 . @
62 6xb 36
. T+2+344+5+6+7+8+9 @
72 7x7 ) —
P+2+3+4+5+6+7+8+9+10 ®
N)|  sx8 64 :
92  9x9 O 3 | 49 | 28 | 55 | 8 [10xi0| 81 | 45
102 (E)| 100

3 a Complete the table of values for the first ten square numbers,

Number 1 2 3
Number squared 1 4 9

b Look across the bottom row of the table of values and describe the repeated paottern in the gap from
one square number fo the next. :

4 a Complete the table of values for the first ten triangular numbers.

Number 1 2 3
Triangular number 1 3 6

b look across the bottom row of the table of values and describe the repected pattern in the gap from
one triangular number to the next.

E

| lefnlg e

“'A totally odd pattern: Add to find the total of -
the first two odd numbers {1 +3) = | |  the first four odd numbers = [:]
the first three odd numbers = | | the first five odd numbers = [ |

Use the patern you see in the answers above to predict the total of the first ten odd numbers.

A
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